OPL w9 40l (T (390 3T O Mgus digod
£39:0 o0 ploxil 5L iy Print jgiws 9y 4 9, 05 5o -
for i in range(-3):
print( *") 3¢ 2« 1¢y 00

Tog oo ooliiwl (5 95mws 4z jipeople ob & Jguo coln ol -Y

CREAT TABLE people (¥ TABLE people (¥ CREAT people (A

$0,l05 3929 CSV o jgiws plas -

read ﬁ writerow (Y reader (Y writer ()

23135 oo » Listl = [47,121,25] coud 511y sae plas Listl[-1] jgzws -F

25 ¢ o5 5l ol (¥ 47 (v 121 O

£3,l05 899 yewo plas try — except ;o -0

exce (f assert (Y finally (v try (\

fhigs o0 2! Sbojy ax finally iz oljgiws -7

(f Wil (g o8 byl yo a5 89 (Y else 59> g Wygo ;o (V adiwon ()

(o Cawly 31) ¢ il ool 6 o Coglgl ol b 4 b Oldos 4y 35 plus o -V

(F +9/9**9%(‘~ +9*9**9/(Y +9'9/9**(‘




flmny S 9 LU 5,5 -A

(¥ wgac g4 5o (¥ bade om gilw o cadle (V09 2y i ()

V(o B 10

fogu o0 plmil (g ygimwd dx b Wbl O g0 2ol 9 25 -V

(f  import (¥ lambda (¥ def (Y

....... Sguind peivn b yis Lol g colisw! DELETE jgiws Jeus ;0 ,51-1)
9 (o0 Bd> Joguzr Jol 0555, (V29 (o0 Si> Jouzr ;512,95 ()

fog wlgs ax Llio oS gl yo ) aacs -1Y
from tkinter import *

tk = Tk() click aoso b o099 ()

btn = Button(tk,text="click")

tk.mainloop() tk aos's b (00,8 (¥
S m A K

axiio buug 30 4050 SO U o0uyd (F

=97 30 yai 090 4aSS cCawl ouid oolasiw! DEINLPACK( ) jgiwd 3l doSd iy pai 3l oy (g9 1 4SS
g3 wlgS Sy ) ddy 35 ol (o g oolaimw! ygiwd (il 3l paw b 3l amy WS .0 wblgs oualie



il oo tkinter (lo coug) glo Ja8 5l g5 b g 38 51 S plas 1Y

Gridview (f  Entry (¥ Label (Y  Button (

TCblo pudlgs 4>y oS gl L-YF

btn = Button(tk,text="click',fg="blue’,bg="red’,width =50)
Al w9 30,8 (ko Cigd LD (2 b (s S ()

048 domo) o 9 (2] (o Cigd LB By b (gl A (Y

3058 drny g 9 2 (o igd 1D (f e b gl aas> (F

S wesol 9 708 o Cigd LD (e b (gl 4SS (F

tk.resizable(False,False)  Comm 939y o5 41510
P2 i 0310l 31 solasiw! (Y 0 yoxdg 03] 30 S s b ()

tK o yoy oy (F wlil ood i B 0 iy 031030 (Y

folo walgs g ylkhsl ax aoliw « Apple = mango jgws ol b -V

Value Error (¢f Type Error (¥ Name Error (Y Syntax Error ()

Sl By iz duwlids Sy Job 25Tas (el 4o -1V
SS1,5 QY (F ST, v (Y SSLEFY (Y ST T (O

«ploS zd » b F a0y 35 0,10 0959 awlil Job glp (Sudgume yeiuly 50 . Cawl olatll Jlgu
A VA 51 ki oK 3 hans p2 45 S5 50 g Lol o] grazmos F iy 35 5900 (331 5 kbl



........ sl 33 oulS SlolS slai —1A
Wgd (o0 Egp SHp B, L (Y Wiglh o0 aibgl Szg5 B9 > L(Y

P EIFN SHeS Bgy b pan g Sy g b pan (F wigh 0 allgh Sypdg, b (Y

z(k,n): YO
==k o
k V(Y
nxk:
(z (k,n-k)) 0
z (k-n,n) a2 o s (F

el Cawyol pi olyle 51 S plas -V

abc=1000 2000 3000 (v abc =1,000,000 (

a_b_c=1,000,000 (f a, b, c=1000, 2000, 3000 (v

Tl Szg8 § 550 Sy a1 wlus (b 6l aulidh b azlgo o150 (gl LT-T)

plosxs (F 3,10 cymiilo dy S (Y (Y als ()

Sl XOR s ;Slos 95 oo 4y 35 51 S plas -YY

P | (¥ Y & ()



39 (o0 1y2l s (y9uy 3 Oly)le 51 Sy plas —TY

round (6352.898,2,5)(Y  round (45.8)

round (45.87463.123,2,1) (f round ()Y

facewd AB10 &b 35 b au 35 51 S plos V¥

rint( ) (f factorial( ) (v sqre( ) (v seed()

() 4 35 plaS’ 325 oS aslad (o2 g,5 -V

num range (10, 14) : 13 12 11 10 9 ¢
1 range (2, num) :
nums1l==1: 13 12 11 10 (v

print (num,end=" ")
14 13 12 11 (v

10 10 10 10 10 (¥

bl (o0 4035 pluS 35 yohmwd (o295 V7
[ (a,Db) a range (3) b range (a) ]
[(0,0) , (1,1), 2,2)¢v  [(1,0), (2,1), (3,2)])

[1.0).(2.0), 2.D]¢¢  [(1,0), (2,1), (2,1)] (¥

fogu o0 oolaiwl yguly jo adls sl gl p ) oS Olods I SO plos -YV

If (F Loop(¥ While(y For each(



= Tl (o0 435 pI0S 35 oS dnkad (> 9,5 —TA

. False (Y True ()
print ( )

3,410 s (F True False (Y

aFl s 3 CSV sl LG ol Default delimiter glee 4 » 5 by a6 35 51 S plas ¥4

| (F - (Y , (Y ()

fabl oo galy 30 CSV Jsilo slavsio 51 15 (sl 4y 35 51 S plas - ¥

writerow( )(f writer( ) (Y reader( ) (Y read() (

ooliwl delimiter ylgie 4 “\t” 51,18 51 a5 mydata.csv JB 0,5 5L ol 4y 35 plas - ¥
ol o0 o Cawl 00,5

csv_reader=csv.reder(my.data,tab_delimiter=True)(

csv reader=csv.reder(my.data,delimiter = ‘\t*)(y

csv_reader=csv.reder(my.data)(

csv_reader=csv.tab_reder(my.data (f

(g oo ooliwl SQLite y5 Sledbl SOl K b bl )l g olxsl gly 15 oS dxkad plas —Y

sqgqlite3 R
connection = sqlite3.create("test database.db")

sgqlite3 Connection (¥
connection = Connection("test database.db")




sql (¥
connection = sgl.connect ("test database.db")

sglite3 (f
connection = sqglite3.connect ("test database.db") |

fadly (o0 4y 35 S bilio w5 axkad joresult ko oold g5 VY

sqlite3
connection = sglite3.connection ("people.db™)
cursor = connection.cursor ()
cursor.execute ("SELECT * FROM people™)
results = cursor.fetchall ()

str(f dict(y list(Y tuple()

Sql wlygiws L people Jguz (40,5 slml gl (Pt josws y1j gl &g 35 51 S plas -TF
fully (o0

CREATE people(Y MAKE people(

CREATE TABLE people(f MAKE TABLE people(Y¥

Fo9 (o0 ol Jguzr 50 W shaw (33,5 3,15 1y S Hgws plas’ Y0

Insert after (f Insert row (Y Insert into(Y Add row(

o9 (o0 oolatwl aly 35 plas’ I (o A SO Slgsimo (48,5 S (sl - Y7

oo x> ob Delete.textbox (Y oo anx> ol .delete(0,end) (A

oo dux> ol .None (f (e anxz> ol .clear(0,end) (¥



Sy ond o yd &y 35 plas 1Y

High (o0 0 pa>O PYE Wgmw b e ly (Su81,5 s 4ol p()

i €XE€ 4 oo BB S5 s aaliyy (Y
Nigad (0 0 yu> S PY Wigumy b (Sl )5 s aoli s (Y

Dgd oo ol text box slx! ¢l Entry (f

fapd (oo wlod |y Giux 4z ) 4ol - YA

tkinter * oSS Sy by SO ()

root=Tk () click (yio b aos's G b p 8 S (Y
m=Button (root, text='click’')

root.mainloop () P8 by yo click (pio b aos’s S L 8 S (F

S 5 K (F

5,5 slontl ol (oo o Sloaed 4z b Sy 55 -1

ploto L YYee (F olgads oyl as(Y 13m0 (b 90 Ladd(Y 13m0 0 V4 ()

Sz resizable(False,False) jgws ,i5 ¥+

< 00 & S aasd sl | (Y JUUE g | POV RE L PIRVRE JPSEFR P A Q)

3 B e Iymo 0,8 90 oSS (¥ P23 03Il 5355 yuds’ Jol8 e (¥

Cogu (0 0015 Jled (Guz 4z Lo o 38 j0 pjus 4o -F)

e = Entry(root,width=50,bg="'blue’' , fg='red'  borderwidth=5) .pack()



S e Sy 9 30,8 diany w950 Job b ooyl SO ()
S e Sy 9 30,8 dia) w95 Jab b i jol5 SO (Y

08 oo Ky 9 2 dmo) w900 Job b (i jol5 Sy (Y

038 (ko Sy 9 (2 diamay s 90 Job b oo yol5 G (F

Tasu oS o az b all) ;0 Joo (pldr g Conmny g9y w9y &5 29,5 - FY

2z add , 55 0
;r:ni'l(':) insert , 55 (v

concat ,2332 (v

add , 2332 (f

MLw d.f..wbu |) 4.53)’35 <o lbo -FY

((gf)}g ouc B+ S5 o5 cucB)/Y) EL&S) t A8 Lol J,.o,.e )

S=h*a+b/2| ¢
S = (@@+tb)2)*h | (v
S=(atb)/2*h | (v

S = (hta+h)2 | (¢

D lod ORI ¥ 4y 35 9 S (ol el Jlgw ay.odcwd o ¥ g ¥ g 4y 55

x.tuple ()| ¢
list (tuple(1)) | (v




tuple (x) | (v

list.Tuple | (f

02,5 Jos (lg (o0 Dygo dx A (6 PS8 SO Colu gl 2 -FO

dict (), ()| «

dic (),[ ]| v

dict (), [ 1] (v

dict (). {1} (f

feawsltell () aue coliuuw! 0 g0 (b 4 35 31 S plus -FF

IS 0 553 a6 0 1y e 5| O

WS (o0 655k BB o 1y Sl ol | (Y

WS o0 953 1y BB yog s b 5L | (Y

WSS 03 9830 1y B (yogr auy b 5L | (F

Tl y2j Olygiuwd (29,5 « b 4y 35 51 G plas -FY

multiply?2(x) :
(x*2)
map (multiply2,[1,2,3,4])

Sl ks | ()

2,2,6,8] | (v

2,4,4,8] |«

[2.4.6.8]] (f

g oolaiuwl LSt jaiws 31wl 2955 o gl w4l



?..
w‘ﬁ)’ 0‘)9M°‘5-"
.9)” sL@M”
)35 31 SO plas’ —FA

dict
4 =
map(_ = [{ 'nam
| el'-'l
. :'pyth
x[ 'name'] et oy
et o nts':10}, {
) , { '"name’'
. 1 =
:'java’, !
, 'points’
1811

[‘pyth
On, 93
Jjava’
a’l|

[‘pytho
n’,’name’
1|«

S ’j
9 .] ,]
(Yl

[‘pyth
on’,’python’]
(¥

(eew!
o el
'ab test ) §¢
Y
| slas print(test
.__name
) =9
>9,> ¥4

» O] o
o yolo exception | (Y

test | (v

_main_ | (f




